AMS 30min Module 2 Solution
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256/256 = 1 mole of Sg molecules = 6.0 x 10% of S5 molecules

500 cm® of 1 mol dm~ aqueous copper(ll) nitrate Cu(NOs)2 contains 1
mole of nitrate ions = 6.0 x 10 nitrate ions

Amount of free chloride anion for each [Pt(NHy).CLICL, : 2
No. of mole of free ions = 0.75 = 4.5 x 10®ions
Whereas no. of moles of ™2C = 1 mol = 6 x 10 atoms of '°C atoms

Molar mass of NaOD = 41 gmol”

Hence, no. of moles of NaOD = 0.5,

causing no. of moles of ions in water (Na* and OD) = 05 2= 1

Even though no. of moles of ND;: 12/24 = 0.5

no. of ions in water (NDsH* and OH) << 1 as NDs is a weak base
(partial dissociation)




